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Simplify.
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Geometry Write an exprgssion for theperimeter of th I below Sim llf g Review!
the expression. >(+ ; _ . :
" 1_71. - "'f' j [“ 9' 1.) Ther: 60 yards in a mile. Write an equation for the

44 | 2 number of miles i an unknown number of yards Define
your variables.
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X + 4
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2) 7-10{24=6[-1-3+6=2- 5)] +5} 3.) Model each statement with an algebraic expression:

1. The product of eight and the quantity four more than a number.

K(A+x)

2. The quotient of a number and eleven.

X

3. Six less than three times a number.

2x-b




4.) State ALL sets of numbers to which each belongs:
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6.) Evaluate for H=-6 K= -3 J=5
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5.) Simplify:
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6.) Evaluate for H=-6 K= D J=5
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6.) Evaluate for H=-6 K=-3 No bookwork!

J=5
3. HIK - K + H2 (—— (s 414 -3)- ("5) o IXL #3 - A.2 & |.2 due Friday, Sept. 13th!
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